
SAP ABAP table THMHRT_MEASURE {Effectiveness measurement result}

THMHRT_MEASURE

MANDT [CLNT (3)]

BUKRS [CHAR (4)]

RFHA [CHAR (13)]

HEDGE_ID [NUMC (10)]

VALUATION_DATE [DATS (8)]

HR_VERSION [NUMC (3)]

CALC_TYPE [CHAR (3)]

POST_REASON [NUMC (2)]

CURRENCY_DELTA [CUKY (5)]

T000

MANDT [CLNT (3)]

 THMHRT_MEASURE-MANDT = T000-MANDT 
0..N

0..N

T001

MANDT [CLNT (3)]

BUKRS [CHAR (4)]
 THMHRT_MEASURE-BUKRS = T001-BUKRS 0..N

0..N

THMHRT_HR

MANDT [CLNT (3)]

BUKRS [CHAR (4)]

RFHA [CHAR (13)]

HEDGE_ID [NUMC (10)]

HR_VERSION [NUMC (3)]

 THMHRT_MEASURE-HR_VERSION = THMHRT_HR-HR_VERSION 
0..N

0..N

THMT_CALC_TYPES

MANDT [CLNT (3)]

CALC_TYPE [CHAR (3)]

 THMHRT_MEASURE-CALC_TYPE = THMT_CALC_TYPES-CALC_TYPE 

0..N

0..N

THMT_HEDGE_ITEM

MANDT [CLNT (3)]

BUKRS [CHAR (4)]

HEDGE_ID [NUMC (10)]

 THMHRT_MEASURE-HEDGE_ID = THMT_HEDGE_ITEM-HEDGE_ID 

0..N

0..N

VTBFHA

MANDT [CLNT (3)]

BUKRS [CHAR (4)]

RFHA [CHAR (13)]

 THMHRT_MEASURE-RFHA = VTBFHA-RFHA 

0..N

0..N


